

ZERO SUMS OF DUAL TOEPLITZ PRODUCTS ON THE ORTHOGONAL COMPLEMENT OF THE DIRICHLET SPACE

YOUNG JOO LEE

ABSTRACT. We consider dual Toeplitz operators acting on the orthogonal complement of the Dirichlet space on the unit disk. We give a characterization of when a finite sum of products of two dual Toeplitz operators is equal to 0. Our result extends several known results by using a unified way.

1. Introduction

Let D be the unit disk in the complex plane \mathbb{C} and dA denote the normalized Lebesgue measure on D . The Sobolev space $\mathscr{W}^{1,2}$ is the completion of the space of all smooth functions f on D for which

$$\left| \int_D f dA \right|^2 + \int_D \left(\left| \frac{\partial f}{\partial z} \right|^2 + \left| \frac{\partial f}{\partial \bar{z}} \right|^2 \right) dA < \infty.$$

As is well known, the space $\mathscr{W}^{1,2}$ is a Hilbert space with the inner product

$$\langle f, g \rangle = \int_D f dA \int_D \bar{g} dA + \int_D \left(\frac{\partial f}{\partial z} \frac{\partial \bar{g}}{\partial z} + \frac{\partial f}{\partial \bar{z}} \frac{\partial \bar{g}}{\partial \bar{z}} \right) dA.$$

The Dirichlet space \mathscr{D} is the closed subspace of $\mathscr{W}^{1,2}$ consisting of all holomorphic functions $f \in \mathscr{W}^{1,2}$ with $f(0) = 0$. Let P denote the orthogonal projection from $\mathscr{W}^{1,2}$ onto \mathscr{D} . Put

$$\mathscr{L}^{1,\infty} = \left\{ u \in \mathscr{W}^{1,2} : u, \frac{\partial u}{\partial z}, \frac{\partial u}{\partial \bar{z}} \in L^\infty \right\},$$

where $L^p = L^p(D, dA)$ denotes the usual Lebesgue space on D and the derivatives are taken in the distribution sense.

Received January 13, 2022; Accepted June 8, 2022.

2010 *Mathematics Subject Classification.* Primary 47B35; Secondary 32A36.

Key words and phrases. Dual Toeplitz operator, dual Hankel operator, Dirichlet space.

This research was supported by Basic Science Research Program through the National Research Foundation of Korea(NRF) funded by the Ministry of Education(NRF-2019R1I1A3A01041943).

Given $u \in \mathcal{L}^{1,\infty}$, the *dual Toeplitz operator* S_u with symbol u is defined on \mathcal{D}^\perp by

$$S_u f = (I - P)(uf)$$

for functions $f \in \mathcal{D}^\perp$. Then, for $u \in \mathcal{L}^{1,\infty}$, it is easy to check that the dual Toeplitz operator S_u is a bounded linear operator on \mathcal{D}^\perp .

Some algebraic properties for dual Toeplitz operators have been well studied on various function spaces. In [8], Stroethoff and Zheng characterized the (semi)-commuting dual Toeplitz operators and obtained a characterization of when a product of two dual Toeplitz operators is another dual Toeplitz operator on the orthogonal complement of the Bergman space on the unit disk. Also, the corresponding results on the Hardy space have been obtained in [1] and [4]. More recently, Kong and Lu [5] recovered several known results concerning the commutativity or product problem by characterizing zero sums of products of two dual Toeplitz operators on the orthogonal complement of the Bergman space or Hardy space.

Also, the corresponding problems have been studied for dual Toeplitz operators acting on the orthogonal complement of the Dirichlet space. Yu and Wu [12] characterized harmonic symbols of (semi)-commuting dual Toeplitz operators. They also obtained a characterization of when a product of two dual Toeplitz operators with harmonic symbols is another dual Toeplitz operator. Later, Yu [10] extended the results of [12] to general symbols by using complete different arguments from those used in [12].

Motivated by these results, in this paper, we consider a more general class of operators that include (semi)-commutators or products of two dual Toeplitz operators. More explicitly, we consider operators which are finite sums of products of two dual Toeplitz operators with general symbols and then obtain a characterization of when such an operator is equal to 0. Our results extend several known results mentioned above by providing a unified way of treating them.

In Section 2, we collect some preliminary results which will be useful in our characterization. In Section 3, we state and prove our main result; see Theorem 3. Also, as applications of our result, we obtain several consequences and recover known results; see Corollaries 4 and 5.

2. Preliminaries

Since each point evaluation is a bounded linear functional on \mathcal{D} , there corresponds to every $z \in D$ a unique function $K_z \in \mathcal{D}$ which has the following reproducing property

$$f(z) = \langle f, K_z \rangle$$

for every $f \in \mathcal{D}$. It is known that the function K_z can be given by

$$K_z(w) = \log \left(\frac{1}{1 - \bar{z}w} \right), \quad w \in D.$$

Using the explicit formula above for K_z , one can see that P can be represented by the integral formula

$$(1) \quad P\psi(z) = \int_D \frac{z}{1 - z\bar{w}} \frac{\partial\psi}{\partial w}(w) dA(w), \quad z \in D$$

for functions $\psi \in \mathscr{W}^{1,2}$; see [6] or [9] for details and related facts.

It is known that each $f \in \mathscr{W}^{1,2}$ admits the following polar decomposition

$$f(re^{i\theta}) = \sum_{k=-\infty}^{\infty} f_k(r)e^{ik\theta},$$

where $f_k(r) = \frac{1}{2\pi} \int_0^{2\pi} f(re^{i\theta})e^{-ik\theta} d\theta$. Moreover, $\sum_{|k| \leq n} f_k(r)e^{ik\theta}$ converges to f in $\mathscr{W}^{1,2}$ as $n \rightarrow \infty$. Also, it is known that the radial limit $f(e^{i\theta}) := \lim_{r \rightarrow 1} f(re^{i\theta})$ exists for almost every θ and $f(e^{i\theta}) \in L^1(\partial D)$. For $f \in \mathscr{W}^{1,2}$ and $k \in \mathbb{Z}$, the set of all integers, we let

$$f_k(1) = \frac{1}{2\pi} \int_0^{2\pi} f(e^{i\theta})e^{-ik\theta} d\theta$$

and put $\mathcal{A} = \mathcal{A}_0 + \mathbb{C}$, where

$$\mathcal{A}_0 = \left\{ \sum_{k \in \mathbb{Z}} [f_k(r) - f_k(1)r^{|k|}]e^{ik\theta} : f(re^{i\theta}) = \sum_{k \in \mathbb{Z}} f_k(r)e^{ik\theta} \in \mathscr{W}^{1,2} \right\}.$$

Then, it is known that $u\mathcal{A}_0 \subset \mathcal{A}_0$ for all $u \in \mathscr{L}^{1,\infty}$ and $P\psi = 0$ for all $\psi \in \mathcal{A}_0$. Furthermore, we have the following decomposition for $\mathscr{W}^{1,2}$:

$$(2) \quad \mathscr{W}^{1,2} = \mathscr{D} \oplus \overline{\mathscr{D}} \oplus \mathcal{A}.$$

See [2] or [11] for details and more information.

3. Main result

Given $u \in \mathscr{L}^{1,\infty}$, the Toeplitz operator T_u , the Hankel operator H_u and dual Hankel operator R_u with symbol u are defined, respectively, by

$$\begin{aligned} T_u f &= P(uf), \\ H_u f &= (I - P)(uf), \\ R_u g &= P(ug) \end{aligned}$$

for functions $f \in \mathscr{D}$ and $g \in \mathscr{D}^\perp$. Then one can check that the operators $T_u : \mathscr{D} \rightarrow \mathscr{D}$, $H_u : \mathscr{D} \rightarrow \mathscr{D}^\perp$ and $R_u : \mathscr{D}^\perp \rightarrow \mathscr{D}$ are all bounded linear operators. Also, given $u, v \in \mathscr{L}^{1,\infty}$, it is easy to see that the following useful relation holds on \mathscr{D}^\perp :

$$(3) \quad S_u S_v = S_{uv} - H_u R_v.$$

Given $u \in \mathscr{L}^{1,\infty}$, it is known that $R_u = 0$ if and only if $u \in \mathscr{D}^\perp$; see Theorem 1 of [10]. Since the set $\{K_a : a \in D\}$ spans a dense subset of \mathscr{D} , we check that $R_u^* K_a = 0$ for all $a \in D$ if and only if $u \in \mathscr{D}^\perp$. The following shows that the

same is true even though $R_u^*K_a = 0$ for some nonzero a , which will be useful in our proof.

Proposition 1. *Let $u \in \mathcal{L}^{1,\infty}$ and $a \in D$ be nonzero. Then $R_u^*K_a = 0$ if and only if $u \in \mathcal{D}^\perp$.*

Proof. First assume $R_u^*K_a = 0$. Decompose u as $u = f + \bar{g} + \varphi$, where $f, g \in \mathcal{D}$, $\varphi \in \mathcal{A}$ as in (2). Since $R_u^*K_a = 0$, we have $\langle R_u^*K_a, F \rangle = 0$ for all $F \in \mathcal{D}^\perp$. Write $f(z) = \sum_{j=1}^\infty b_j z^j$ for the Taylor series expansions of f . By (1), we note $\bar{z}^n \in \mathcal{D}^\perp$ and

$$P((\bar{g} + \varphi)\bar{z}^n) = 0$$

for all $n = 0, 1, 2, \dots$. Also, by a simple calculation using (1), we can see that for integers $m, n \geq 0$

$$P(\bar{z}^m z^n)(z) = \begin{cases} z^{n-m} & \text{if } n > m, \\ 0 & \text{if } n \leq m \end{cases}$$

for $z \in D$. It follows that

$$P(f\bar{z}^n)(a) = \sum_{j=1}^\infty b_j P(z^j \bar{z}^n)(a) = \sum_{j=n+1}^\infty b_j a^{j-n}$$

for all $n = 0, 1, 2, \dots$. Now, taking $F = \bar{z}^n$ and using the above, we can check that

$$\begin{aligned} 0 &= \langle R_u^*K_a, \bar{z}^n \rangle \\ &= \langle K_a, P(u\bar{z}^n) \rangle \\ &= \langle K_a, f\bar{z}^n \rangle \\ &= \overline{P(f\bar{z}^n)(a)} \\ &= a^{-n} \sum_{j=n+1}^\infty b_j a^j \end{aligned}$$

for all $n = 0, 1, 2, \dots$, which implies $b_j = 0$ for all $j \geq 1$. Thus $f = 0$ and $u = \bar{g} + \varphi \in \mathcal{D}^\perp$, as desired. Conversely, if $u \in \mathcal{D}^\perp$, then $R_u = 0$ and then $R_u^*K_a = 0$ holds. The proof is complete. \square

Given two vectors x, y in a Hilbert space \mathcal{H} with an inner product (\cdot, \cdot) , the rank one operator $x \otimes y$ is defined on \mathcal{H} by

$$[x \otimes y]z = (z, y)x$$

for functions $x \in \mathcal{H}$. We note that the following operator equation

$$(4) \quad L_1(x \otimes y)L_2 = (L_1x) \otimes (L_2^*y)$$

holds for bounded operators L_1, L_2 . Also, given nonzero vectors $x_1, x_2, y_1, y_2 \in \mathcal{H}$, we observe that $x_1 \otimes y_1 = x_2 \otimes y_2$ if and only if there exists a nonzero $\alpha \in \mathbb{C}$ such that $x_1 = \alpha x_2$ and $y_2 = \bar{\alpha} y_1$. More generally, we have the following

lemma which is essentially proved in Proposition 4 of [3]. In the following, for a given positive integer N , we let \mathbb{M}_N be the set of all $N \times N$ matrices and \mathbb{S}_N be the set of all permutations on $\{1, \dots, N\}$.

Lemma 2. *Let $x_j, y_j \in \mathcal{D}^\perp$ for $j = 1, \dots, N$. Then*

$$\sum_{j=1}^N x_j \otimes y_j = 0 \quad \text{on } \mathcal{D}^\perp$$

if and only if there exist $A \in \mathbb{M}_N$ and $\sigma \in \mathbb{S}_N$ such that

$$[A - I] \begin{pmatrix} x_{\sigma(1)} \\ \vdots \\ x_{\sigma(N)} \end{pmatrix} = 0 \quad \text{and} \quad A^* \begin{pmatrix} y_{\sigma(1)} \\ \vdots \\ y_{\sigma(N)} \end{pmatrix} = 0.$$

Given a point $a \in D$, we let

$$\varphi_a(z) = \frac{a - z}{1 - \bar{a}z}, \quad z \in D$$

denote the usual automorphism of D and ρ_a be the function on D defined by

$$\rho_a(z) = a - \varphi_a(z), \quad z \in D.$$

Then, for each $a \in D$, one can check that

$$(5) \quad \rho_a \otimes K_a = a(I - T_{\varphi_a} T_{\bar{\varphi}_a})$$

holds on \mathcal{D} ; see Lemma 7 of [10].

We are now ready to state and prove our main theorem characterizing zero sums of products of two dual Toeplitz operators. In the proof, we will use an argument in [7] where zero sums of products of two *ordinary* Toeplitz operators have been characterized. In the following, the notation \mathcal{H} denotes the set of all holomorphic functions on D . Also, given a set X and an integer $N \geq 1$, X^N denotes the set of all (x_1, x_2, \dots, x_N) , where $x_j \in X$.

Theorem 3. *Let $u_j, v_j \in \mathcal{L}^{1,\infty}$ for $j = 1, \dots, N$. Then*

$$(6) \quad \sum_{j=1}^N S_{u_j} S_{v_j} = 0 \quad \text{on } \mathcal{D}^\perp$$

if and only if $\sum_{j=1}^N u_j v_j = 0$ on D and one of the following equivalent conditions holds.

- (a) $\sum_{j=1}^N H_{u_j} R_{v_j} = 0$.
- (b) *There exist $A \in \mathbb{M}_N$ and $\sigma \in \mathbb{S}_N$ such that the following conditions hold;*
 - (b1) $(A - I)U_\sigma \in \mathcal{H}^N$, where $U_\sigma = (u_{\sigma(1)}, \dots, u_{\sigma(N)})^T$.
 - (b2) $\bar{A}^*V_\sigma \in (\mathcal{D}^\perp)^N$, where $V_\sigma = (v_{\sigma(1)}, \dots, v_{\sigma(N)})^T$.

Proof. By (3), we note that

$$(7) \quad \sum_{j=1}^N S_{u_j} S_{v_j} = S_{\sum_{j=1}^N u_j v_j} - \sum_{j=1}^N H_{u_j} R_{v_j}.$$

It is known that $\sum_{j=1}^N S_{u_j} S_{v_j}$ is compact if and only if $\sum_{j=1}^N u_j v_j = 0$; see Corollary 2.5 of [11]. Note that (6) implies the compactness of $\sum_{j=1}^N S_{u_j} S_{v_j}$. Thus, (7) shows that (6) holds if and only if $\sum_{j=1}^N u_j v_j = 0$ and (a) holds. So, in order to prove the theorem, it suffices to prove that (a) is equivalent to (b).

Now, suppose (a) holds and fix a nonzero point a in D . Noting

$$H_{u_j} T_{\varphi_a} = S_{\varphi_a} H_{u_j}, \quad T_{\overline{\varphi_a}} R_{v_j} = R_{v_j} S_{\overline{\varphi_a}},$$

we can see from (5) that

$$\begin{aligned} [H_{u_j} \rho_a] \otimes [R_{v_j}^* K_a] &= H_{u_j} [\rho_a \otimes K_a] R_{v_j} \\ &= H_{u_j} [a(I - T_{\varphi_a} T_{\overline{\varphi_a}})] R_{v_j} \\ &= a[H_{u_j} R_{v_j} - H_{u_j} T_{\varphi_a} T_{\overline{\varphi_a}} R_{v_j}] \\ &= a[H_{u_j} R_{v_j} - S_{\varphi_a} H_{u_j} R_{v_j} S_{\overline{\varphi_a}}] \end{aligned}$$

for each j . Hence we have

$$\sum_{j=1}^N [H_{u_j} \rho_a] \otimes [R_{v_j}^* K_a] = a \sum_{j=1}^N H_{u_j} R_{v_j} - a S_{\varphi_a} \left(\sum_{j=1}^N H_{u_j} R_{v_j} \right) S_{\overline{\varphi_a}} = 0.$$

By Lemma 2, there exist $A = [a_{ij}] \in \mathbb{M}_N$ and $\sigma \in \mathbb{S}_N$ such that

$$(8) \quad [A - I] \begin{pmatrix} H_{u_{\sigma(1)}} \rho_a \\ \vdots \\ H_{u_{\sigma(N)}} \rho_a \end{pmatrix} = 0 \quad \text{and} \quad A^* \begin{pmatrix} R_{v_{\sigma(1)}}^* K_a \\ \vdots \\ R_{v_{\sigma(N)}}^* K_a \end{pmatrix} = 0.$$

By the first equation of (8), one can see that

$$H_{\sum_{j=1}^N a_{ij} u_{\sigma(j)}} \rho_a = \sum_{j=1}^N a_{ij} H_{u_{\sigma(j)}} \rho_a = H_{u_{\sigma(i)}} \rho_a$$

and hence

$$(I - P) \left(\rho_a \left[\sum_{j=1}^N a_{ij} u_{\sigma(j)} - u_{\sigma(i)} \right] \right) = H_{\sum_{j=1}^N a_{ij} u_{\sigma(j)} - u_{\sigma(i)}} \rho_a = 0$$

for each i . Hence $\rho_a \left[\sum_{j=1}^N a_{ij} u_{\sigma(j)} - u_{\sigma(i)} \right] \in \mathcal{H}$ for each i . Note $\rho_a(z) = 0$ if and only if $z = 0$. Since each u_j is bounded, we see that $\sum_{j=1}^N a_{ij} u_{\sigma(j)} - u_{\sigma(i)} \in$

\mathcal{H} for each i and then (b1) holds. Note $R_{\alpha\varphi}^* = \bar{\alpha}R_\varphi^*$ for every $\varphi \in \mathcal{L}^{1,\infty}$ and constant α . Thus, by the second equation of (8), one obtains

$$R_{\sum_{i=1}^N a_{ij}v_{\sigma(i)}}^* K_a = \sum_{i=1}^N \overline{a_{ij}} R_{v_{\sigma(i)}}^* K_a = 0,$$

which implies that $\sum_{i=1}^N a_{ij}v_{\sigma(i)} \in \mathcal{D}^\perp$ for every j by Proposition 1. Hence (b2) holds and (b) follows as desired.

Now suppose (b) holds. Letting $A = [a_{ij}]$, we have $\sum_{j=1}^N a_{ij}u_{\sigma(j)} - u_{\sigma(i)} \in \mathcal{H}$ and $\sum_{j=1}^N a_{ji}v_{\sigma(j)} \in \mathcal{D}^\perp$ for each i . For $x \in \mathcal{H} \cap \mathcal{L}^{1,\infty}$, note $H_x = 0$. Hence

$$H_{u_{\sigma(i)}} = H_{\sum_{j=1}^N a_{ij}u_{\sigma(j)}}, \quad R_{\sum_{j=1}^N a_{ji}v_{\sigma(j)}} = 0$$

for each i . It follows that

$$\begin{aligned} \sum_{j=1}^N H_{u_j} R_{v_j} &= \sum_{j=1}^N H_{u_{\sigma(j)}} R_{v_{\sigma(j)}} \\ &= \sum_{j=1}^N \left(H_{\sum_{i=1}^N a_{ji}u_{\sigma(i)}} \right) R_{v_{\sigma(j)}} \\ &= \sum_{j=1}^N \left(\sum_{i=1}^N a_{ji} H_{u_{\sigma(i)}} \right) R_{v_{\sigma(j)}} \\ &= \sum_{i=1}^N H_{u_{\sigma(i)}} \left(\sum_{j=1}^N a_{ji} R_{v_{\sigma(j)}} \right) \\ &= \sum_{i=1}^N H_{u_{\sigma(i)}} \left(R_{\sum_{j=1}^N a_{ji}v_{\sigma(j)}} \right) \\ &= 0 \end{aligned}$$

and (a) holds. The proof is complete. \square

As immediate consequences, we obtain several applications. First, in the special case when $N = 2$ in Theorem 3, we obtain a more concrete description as shown in the next corollary.

Corollary 4. *Let $u, v, \varphi, \psi \in \mathcal{L}^{1,\infty}$. Then $S_u S_v = S_\varphi S_\psi$ on \mathcal{D}^\perp if and only if $uv = \varphi\psi$ on D and one of the following statements holds:*

- (a) $u, \varphi \in \mathcal{H}$.
- (b) $v, \psi \in \mathcal{D}^\perp$.
- (c) $u \in \mathcal{H}, \psi \in \mathcal{D}^\perp$.
- (d) $v \in \mathcal{D}^\perp, \varphi \in \mathcal{H}$.
- (e) $u + \beta\varphi \in \mathcal{H}$ and $\psi + \beta v \in \mathcal{D}^\perp$ for some nonzero constant $\beta \in \mathbb{C}$.

Proof. First suppose $S_u S_v = S_\varphi S_\psi$. By Theorem 3 (with the identity σ without loss of generality), we have $uv = \varphi\psi$ and

$$(9) \quad \begin{aligned} (a-1)u - b\varphi &\in \mathcal{H}, \\ cu - (d-1)\varphi &\in \mathcal{H}, \\ c\psi + av &\in \mathcal{D}^\perp, \\ d\psi + bv &\in \mathcal{D}^\perp \end{aligned}$$

for some constants a, b, c and d . If $u \in \mathcal{H}$ and $b \neq 0$, then the first line above shows $\varphi \in \mathcal{H}$ and then (a) holds. Also, if $u \in \mathcal{H}$, $b = 0$ and $d \neq 0$, then the last line above shows $\psi \in \mathcal{D}^\perp$ and then (c) holds. If $u \in \mathcal{H}$ and $b = d = 0$, then the second line above shows $\varphi \in \mathcal{H}$ and then (a) holds. Hence, if $u \in \mathcal{H}$, then (a) or (c) holds. Similarly, we can see that if $v \in \mathcal{D}^\perp$, then (b) or (d) holds. Also, if $\varphi \in \mathcal{H}$, then (a) or (d) holds. Finally, if $\psi \in \mathcal{D}^\perp$, (b) or (c) holds. Note $S_1 = I$. By the last case what we have done above, we characterize the semi-commuting dual Toeplitz operators by taking $\psi = 1 \in \mathcal{D}^\perp$ together with (3) as follows: $S_u S_v = S_{uv}$ if and only if either $u \in \mathcal{H}$ or $v \in \mathcal{D}^\perp$. This fact will be used in the proof of the last case below.

Now, assume $u, \varphi \notin \mathcal{H}$ and $v, \psi \notin \mathcal{D}^\perp$. If $a - 1 = b = c = d - 1 = 0$, then the last two conditions above show $v, \psi \in \mathcal{D}^\perp$, which is impossible and then one of $a - 1, b, c, d - 1$ is nonzero. On the other hand, using the first two conditions in (9), we note $a - 1 \neq 0$ if and only if $b \neq 0$, and $c \neq 0$ if and only if $d \neq 1$. Thus we have $u + \epsilon\varphi \in \mathcal{H}$ for some nonzero constant ϵ . Also, if $a = b = c = d = 0$, then the first two conditions in (9) show $u, \varphi \in \mathcal{H}$, which is impossible as before. So, one of a, b, c, d is nonzero and then by the same argument above we see $\psi + \delta v \in \mathcal{D}^\perp$ for some nonzero constant δ . Now we show $\epsilon = \delta$. For $x \in \mathcal{L}^{1,\infty}$, recall that $R_x = 0$ if and only if $x \in \mathcal{D}^\perp$. Also, note that $H_x = 0$ for $x \in \mathcal{H} \cap \mathcal{L}^{1,\infty}$. Since $u + \epsilon\varphi \in \mathcal{H}$ and $\psi + \delta v \in \mathcal{D}^\perp$, (3) shows that

$$(10) \quad \begin{aligned} S_{u+\epsilon\varphi} S_v &= S_{v(u+\epsilon\varphi)} - H_{u+\epsilon\varphi} R_v = S_{v(u+\epsilon\varphi)}, \\ S_\varphi S_{\psi+\delta v} &= S_{\varphi(\psi+\delta v)} - H_\varphi R_{\psi+\delta v} = S_{\varphi(\psi+\delta v)}. \end{aligned}$$

It follows that

$$(11) \quad \begin{aligned} S_u S_v &= S_{uv} + \epsilon S_{\varphi v} - \epsilon S_\varphi S_v, \\ S_\varphi S_\psi &= S_{\varphi\psi} + \delta S_{\varphi v} - \delta S_\varphi S_v. \end{aligned}$$

Since $S_u S_v = S_\varphi S_\psi$ and $uv = \varphi\psi$, we have $(\epsilon - \delta)[S_\varphi S_v - S_{\varphi v}] = 0$. But, since $\varphi \notin \mathcal{H}$ and $v \notin \mathcal{D}^\perp$, we see $S_\varphi S_v \neq S_{\varphi v}$ by the remark mentioned before. Thus $\epsilon = \delta$ and (e) holds, as desired.

Now, suppose $uv = \varphi\psi$ and one of (a)~(e) holds. If either $x \in \mathcal{H}$ or $y \in \mathcal{D}^\perp$, we recall $H_x R_y = 0$. Hence, if one of (a), (b), (c) and (d) holds, we have $S_u S_v = S_\varphi S_\psi$ by (3). If (e) holds, (10) and (11) with $\beta = \epsilon = \delta$ show that $S_u S_v = S_\varphi S_\psi$. The proof is complete. \square

If we take $\varphi = v$ and $\psi = u$ in Corollary 4, we characterize commuting dual Toeplitz operators as in Corollary 5(a) below which recovers Theorem 2 of [10]. Also, taking $\psi = 1$ in Corollary 4, we have Corollary 5(b) below solving the product problem of when a product of two dual Toeplitz operators is another dual Toeplitz operator. Finally, as mentioned before in the proof of Corollary 4, taking $\varphi = uv$ in Corollary 5(b), we characterize semi-commuting dual Toeplitz operators, which recovers Theorem 3 of [10]; see Corollary 5(c) below.

Corollary 5. *Let $u, v, \varphi \in \mathcal{L}^{1,\infty}$. Then the following statements hold.*

- (a) $S_u S_v = S_v S_u$ if and only if $u, v \in \mathcal{H}$ or $u, v \in \mathcal{D}^\perp$ or a nontrivial linear combination of u and v is constant on D .
- (b) $S_\varphi = S_u S_v$ if and only if $\varphi = uv$ on D , and $u \in \mathcal{H}$ or $v \in \mathcal{D}^\perp$.
- (c) $S_{uv} = S_u S_v$ if and only if either $u \in \mathcal{H}$ or $v \in \mathcal{D}^\perp$.

Acknowledgements. The author would like to thank the referee for the helpful comments and suggestions.

References

- [1] L. Benaissa and H. Guediri, *Properties of dual Toeplitz operators with applications to Haplitz products on the Hardy space of the polydisk*, Taiwanese J. Math. **19** (2015), no. 1, 31–49. <https://doi.org/10.11650/tjm.19.2015.4323>
- [2] Y. Chen and N. Q. Dieu, *Toeplitz and Hankel operators with $L^{\infty,1}$ symbols on Dirichlet space*, J. Math. Anal. Appl. **369** (2010), no. 1, 368–376. <https://doi.org/10.1016/j.jmaa.2010.03.025>
- [3] C. Gu and D. Zheng, *Products of block Toeplitz operators*, Pacific J. Math. **185** (1998), no. 1, 115–148. <https://doi.org/10.2140/pjm.1998.185.115>
- [4] H. Guediri, *Dual Toeplitz operators on the sphere*, Acta Math. Sin. (Engl. Ser.) **29** (2013), no. 9, 1791–1808. <https://doi.org/10.1007/s10114-013-1717-z>
- [5] L. Kong and Y. Lu, *Some algebraic properties of dual Toeplitz operators*, Houston J. Math. **44** (2018), no. 1, 169–185.
- [6] Y. J. Lee, *Algebraic properties of Toeplitz operators on the Dirichlet space*, J. Math. Anal. Appl. **329** (2007), no. 2, 1316–1329. <https://doi.org/10.1016/j.jmaa.2006.07.041>
- [7] Y. J. Lee and K. Zhu, *Sums of products of Toeplitz and Hankel operators on the Dirichlet space*, Integral Equations Operator Theory **71** (2011), no. 2, 275–302. <https://doi.org/10.1007/s00020-011-1901-4>
- [8] K. Stroethoff and D. Zheng, *Algebraic and spectral properties of dual Toeplitz operators*, Trans. Amer. Math. Soc. **354** (2002), no. 6, 2495–2520. <https://doi.org/10.1090/S0002-9947-02-02954-9>
- [9] Z. Wu, *Function theory and operator theory on the Dirichlet space*, in Holomorphic spaces (Berkeley, CA, 1995), 179–199, Math. Sci. Res. Inst. Publ., 33, Cambridge Univ. Press, Cambridge, 1998.
- [10] T. Yu, *Operators on the orthogonal complement of the Dirichlet space*, J. Math. Anal. Appl. **357** (2009), no. 1, 300–306. <https://doi.org/10.1016/j.jmaa.2009.04.019>
- [11] T. Yu, *Operators on the orthogonal complement of the Dirichlet space (II)*, Sci. China Math. **54** (2011), no. 9, 2005–2012. <https://doi.org/10.1007/s11425-011-4259-9>
- [12] T. Yu and S. Y. Wu, *Commuting dual Toeplitz operators on the orthogonal complement of the Dirichlet space*, Acta Math. Sin. (Engl. Ser.) **25** (2009), no. 2, 245–252. <https://doi.org/10.1007/s10114-008-7109-0>

YOUNG JOO LEE
DEPARTMENT OF MATHEMATICS
CHONNAM NATIONAL UNIVERSITY
GWANGJU 61186, KOREA
Email address: `leeyj@chonnam.ac.kr`